GEARSPACE® 34 Cargo Carrier

Bicycle Transport
Using Bike Mount Hardware Kit(s)

GearSpace 34 transports up to two bicycles with front wheel removed.
To transport in secured, upright position, Bike Mounting Hardware Kit(s) are
an available option.

Fits two standard bicycles (mountain or road) with frames up to 60
centimeters (56" length frame & rear wheel), and handle bars up to 25" in
width. Position bicycles in opposite direction as shown.

Each hardware kit per bike includes:
C Channel Track (install in base using existing bolt holes and hardware)
Spring Nuts (fits inside Track for 0.25 x 20" bolt hole fittings)
Mounting Brackets (allows quick release to position at varying angles
from the Track. This in turn allows the bicycle’s fork and handle bars to
angle for position fit as needed)
Quick Release Fork Mount (secures front fork of bicycle to the carrier)
Length Adjustable Bungee Cord (secures front wheel along side of
bicycle frame inside carrier)

Installation

Bolt C Channel Track(s) inside base on opposite ends (farthest outward) as
shown. To do so, unbolt existing hardware on carrier’s floor. Line up

holes with the track holes. Install using carrier’s bolts and nuts; however,
smaller washers are supplied to use in the track in place of the carrier’s larger
washers for proper fit.

‘ Insert Spring Nut from kit assembly into track by pressing

3 and twisting for fit. Apply remaining hardwares as shown in
diagram. Final tightening after fit test of bikes inside carrier is
recommended.

Mounting Bicycles Inside Carrier

Position Quick Release along track at preferred location for best fit of bicycles
and other cargo by loosening bolts to slide Quick Release along track. Loosen
bolts to swivel Mounting Brackets to position Quick Release at varying angles
that may be needed for fit of bicycle’s handle bars. Secure free wheel to bike ,

frame with length adjustable bungee cord. LersGoAERO

Gear Manaaement Solutions ™




Glt-;l' 5€@ GEARSPACE™ 34 Cargo Carrier
Part No.

One-Bike Mount Kit - HGK963

Two-Bike Mount Kit - HGK970

Parts List (per bike):

Bike Mount Skewer

Bike Mount Brackets

1/4" x 1" Bolts

1/4" x 1 Fender Washers ¥
1/4" Standard Washers @ @

1/4" Split Ring Washers %

1/4" Nylock Nuts
1/4" Spring Nuts
18" C-Channel
Bungee Cord

= 22 NN DN DDA DADN -

Technical Support
For assistance with this product, please contact us:

4474 Barnes Rd. Colorado ) ) SUDDOrt@LetsGoAero.com
Springs, CO 80917 USA 877-464-2376 pport@

Copyright © 2015 Let's Go Aero, Inc.



